
���������	
��
�
�������

���������	
��
�
����

�

���������	���
	���

����������������
�����������������
�����
���������
������� ��!"�����
#$%��&���


'��!%� ��!"�'�  &(���


���)�)�*+,��������
�
) !�#$�-).��� ����/�����
01���&��(�2&�����
 ��1�'�3� )��$��$�4� )5�����
 ��0�1"0���� �3 &(���$3�$�3�
���

��6.31� )���1%7������
$��1)0�-).�����
��5!&�����
!���1�#).���
�

��8�����
�+89�:;2�$)0� �0)5�$���!$
 �2�$�3�8<��	<��=�����

�

>89�
3�$�).��?�?��)�21�'4������
3�$�).�������
��$�(�'�0�@�<A
BC����������
��$�(�'�0�@�<A
BC�9D�����

�

E8�+�:���01����3�.
2�$4$%!)��-).�'�2� �3
8<��	<��=����

E8F*�:G�H�.�I�51�3�.��)�!�2�
8<��	<��=�����

�

�JE������
>KKD�

 ��!$�50������
��$�2�!$&�����
��''�$70������
$��1)L).�����

�3!�$)��-).���$3�$����
�
�#� !&�$�!$� �1.-))���
�
�$� '������
31�'� )�����)�.2)��9*�����
3��2�7 ��!)����

') �2)L��0����� �31� )��
 ��!$�50����
�

01���&�����
0� ��1"�%�$�31� ).���
�
 ��!$�50��01)� !���������������

 ��!$�50����$3�$����
����


��1��!"�����
�� �$%7� )��0� I1)0!�3���
�
�� �31� )���$� '&�����
��$�2�!$&

01)� !�����������
��$3�$�����������
 ��!$�50������
�$)�$)!�!�����

��''�$70��3�$��1)L &(
�)�!�2�(�����

�$�-���� ��!$�50)�01)� !������



���������	
��
�
���� ���

$��2�H� )������
$���$�'�1� )����1��!�5���
�
$�#)�!$�-).����/
$���$3)$�3� )��01)� !������
���'� )����1��!)���
�
���!�. )���� �31� ).�����
���!�. )����$��$)3.�0)�����
!$���3� ).�����
%�!� �30����$3�$������
I���

���$�������/
�� �$%7� ).����/
��'!3�$7'� ).�����
�$�'1�7� ).����/

A�M����/
�N>�:#1�3 &5�����$�3�!�1"
'�2� �=����


A<C�OA��������//

�

FP�9�:��1 ��!"Q�%!�L �  ��
'�2�  ���)2.=�����������������

�

RS8��:#1���1" ��% )0�1" &5
)'� !)I)0�!�$=�����

�

J
C����$�#$�22����


JK*D*�����

�

8�>�:;$()!�0!%$ &5���3�!
8<��	<��=����

8�9��:;#� !�!3�����3&'�1� )Q
)2� �)�% )0�1" &(���$�2�!$�3
�$�!�0�1�3�8<��	<��=���������

8E�99����/
8T*R�:U���1 )!�1" &5�0�2)!�!
8TDF=����

8TDF�:V$��1�2 �.�#$%�����$��0W
!)$�3� ).�8<��	<��=��������
�$��0!&����


8<��	<��
)�$�$().���


��'01QL� )������
$�#)�!$�-).��'$���3����/

8<��	<��W�$�3�5'�$����
8<��	<��W�$�3�5'�$�:8*�=�����
3&'�1� )���1�0����!�3&(
�'$���3�����

'���1 )!�1" &5���$3�$���/�
�� �3 �5���$3�$���/�
��$.'�0���'01QL� ).�)
 ��!$�50)���$3�$�3�����

8<��	98E�:U I�$2�-)�  &5
-� !$���!)�8<��	<��=����������
��/
'��0$)�!�$�98E�����
I�51�0X4������
I�$2��%�1�����������

8�E�:2�7�$�-��� ��
3��)2�'�5�!3)�=�����

�Y�
<Z�M���
�
 ��!$�50����$�2�!$�3��JE��
��


8�C�������
8����� �'��!�!0)���/�
8������/�
)���1"��3� )��3��9*���/�
�!$%0!%$���'$������/�

8�W�'$����������
8������/�
�$� '�����

'���31� )�� �3�#�����/
)�2� � )����������

 ��0�1"0�� ���' �2��'��!�$��
�/�

$���$3)$�3� )��3��JE������
��32��! ���)���1"��3� )��3
�JE������

8�W��0�!�����
8*KE�:G�H��!3��8<��	<��=����

	

[�	\�	
C�����




�N>�:1�0�1" &5�#1�3 &5
����$�3�!�1"=����


�NJK*D*����





���������	
��
�
�������

�

N�E�:����$�! &5��'$��
 ��)!�1.=����/�����

N*��K*
DE�]8�W�������

NWDD��:2) )2�1" &5��$�0
7)� )=���������

�

9>9*�����
<\�C�^������
<����$�01QL�!�1"�����
	����$�01QL�!�1"�����
		����$�01QL�!�1"���/�

9��*�����
9��>8K*����/
*N>�����
@89*�����
������� ��!"�����
3&��$&�����$�3�!�1.����

)�!�$).�����
0�'&

��1��!�5�����
$��%$��3�����

2 �#���!�3�.��'$���-).���/�
 �'��!�!0)���/������
 ���(�')2��!"�����
��1��!"�����
�#$� )L� ).�����@89*���/�
��$���0!)3&���/�
��$!&���/������
�$��1�2&�����
$�#)�!$�-).�)2� �����
�1%7�������$�3�!�1�5����������
�1%7�&�����
!)�&�%�1�3�����

��$�'�1� )������
!$� ���$! &���$�!�0�1&�����

9��>D���/�����������
��$�2�!$&�3�$���!$�����


9����T�����
<��A�^M���
�
9���^\���
�
9��_
M
<��������
�
<��O
<���/�
<��C`�����

A`�Y��0� !�0�!�����
�<��	Z^����0� !�0�!�����
B�<C��0� !�0�!�����
0�2� '&�����

9��*`�__�����
<��C�^������
<C_

abY��
�����������
c��0�2� '�����

�d����0�2� '�����/
Z�<M�	��0�2� '�����/
`�_Y��0�2� '�����

_C��0�2� '������
_C�	��	��0�2� '������
	

���0�2� '������
C�	��	��0�2� '������
C���e<
fA�����-).�����
C���e<
fA�\bM�����
C���e<
fA�Z<^O�����-).�����
C���e<
f�M<
	�������-).�����
C���e<
fOCdZ	����-).�����
C���e<
f	��b	C�����-).�����
C���e<
fC�^	�`����-).����

C���e<
f������-).�����
C����_^CC����-).�����
C���A
O^�<����-).�����
C���8gF+��	C�
<����-).�����
C���Y
	�����-).�����
C���hb�	���Y�����-).�����
C���	��	������
C���	

�����-).����

C���C	�`_�C�����-).����

C�����O�
b�����-).����

C�����Y�����-).����

C����0�2� '������
 �'�0%2� !)$�3�  &����-))�
��/

�4)�0)�����
$�7)2&�$���!&�����
��3�!&�����$)2� � )Q����





Y^�`Y�<M���
�
Y�<M���
�
��-))���
�



���������	
��
�
���� ���

�

P
*�:0�L��!3��%�1%#=���/�

�
+FE�:+�hb�C��Z
	�E
OO�<�C=�����
�������
+FE����������
+FE����������
+FE�������������
+FE����
������������
+FE��
�/����
+FE��/
����/�
+FE����
��
�
+FE�������
�
+FE���������
+FE���
����

+FE���/�����/
+FE���/����

+FE���������

+FE���������

+FE��������������
+FE����/�����
+FE���/����
�
+FE��
�����
��)�0�����
�$��0!&����


	b<^C���/�

�

*�N>������
*N>�����

�

DE�]8�
��$�2�!$&�3�$���!$������

D[Ti����������
�	^��	��:�	^��	
b��=���
�
D*8R����������
DD��:�$�0�7)� )=��/��������������/

)���1"��3� )������
 �� �L� )�����

�

S98g
��$�2�H� )��'�  &(��� &�����

S+��:% )I)-)$�3�  &5
%0���!�1"�$��%$��3=���


�

@�<A
BC�����
301QL� )���9*�����
 ��!$�50��)���1"��3� ).
@89*�3��9*�����

 ��!$�50��01)� !��@89*�����
�����  ��!)�@89*�����
�����  ��!)�$����� �3�!�1.�
���

!$���)$�30�����$�����9*���
�
@�<A
BC��

301QL� )���9*����

 ��!$�50��@89*�����
 ��!$�50��0�'����1��!)
9��>8K*�����

@�<A
BC�9D��
301QL� )���9*�����
301QL� )���$��2�!$��@89*�
���

���$�!���$�'�L)����)��5�@89*�
@89*W+�����

j� )!�$��$�)�3�')!�1" ��!)�
�//

 ��!$�50�
8������
��#$%�0)���$3�$������
01)� !��@89*�����

��$� ����� ����������
��$�(�'��!�>89������
�$��1�2&���$3�$�3��9*�����
$��$�4� )��@89*�L�$����9*�
���

�3�5�!3��DE�]8������
!$���)$�30�����$�����9*���
�

B�<�Y�ZM���
�
@89*���/�
3��2�7 ��!)���/�
'�5�!3).���/

 ��!$�50�

�9*�����
) !�#$�-))����9*����

01)� !�3�����

��$�! &5��$��2�!$�����
�����  ��!)�3�@�<A
BC������
���




���������	
��
�
�������

��$���0!)3&���/�
��''�$70��3�$��1)L &(
�)�!�2�(�����

�$) -)�&�$���!&���/�
�$�0�)W��$3�$&�����
$��$�4� )��)2� )�9��>8K*���/�
$��1)0�-).���/�����

���!�. )�����)��5���/�
��L�!� )�����9*���/������
�!�!)�!)0�����

!)�&����)��5���//
!$���)$�30�����$������
�
%'�1� )�����)��5���/�
%�1�! � )�����&�'�  &(�����
%�!� �30������

@@@
������� ��!"�����
��$��'$���-).����/
�$�0�)W��$3�$����/

�

;$� '������
'1)!�1" ��!"��������
�
�� �31� )������

�

k����'�  &(����)��5�$��%$��3����
k����'�  &(�)2� �9��>8K*���//
%�1�! � )������

k������ ����� �31� )����9*�
���

k������ ��!"���������������������
���
Td�`^<M������
FD�����/
8N������

�<�	^<�����/�
���������
9��>8K*�����
�K�����

@@@�����
� � )2 &5�FD������
�!�0��)� %!$)����/
�%')!�����
�$� '2�%X$&�����
3 %!$)��!�3�.�����

') �2)L��0����� �31� )�������
���

'���1 )!�1" &5���$3�$���//
0� !�0�!�����
 ��!$�50��%$�3 .�'��!%��������
���

��6.31� )���1%7������
�� �3 �5���$3�$�����
�����  ��!)�@�<A
BC����������
�!0����!����1%7)3� ).�����
��L!�����

�$)31�L� )��8<��	<��W
�$�3�5'�$������

�$) -)�&�����
$��2�H� )����$3�$�3�����
$��$�4� ).�����
$���$3)$�3� )���� �����
$���$3 ���0��)$�3� )������
�0$&!)����L!�3�#���'$��������
��%I) #�:��2�  &5����$��=�
���

�(�2��$��'�1�  �#��2��#����/�
%3�'�21� )���
�

k$� '2�%X$&���
�����������
 ��!$�50����$3�$������
$��2�H� )����$3�$�3�����

�

l)�$)' &5�%��1�����
l$%��&�'��!%��
�9*�AO�<C���
�
�9*SYA^���	
d����
�����
�����
;'2) )�!$�!�$&��JE����
�
;'2) )�!$�!�$&�'�2� ������
m�������
V�1"��3�!�1)��JE����
�
V�1"��3�!�1)�@89*���
�
V$�4�'4)���$�3�$0%���������


�

n�  &�
�� &��'��!%� ��!"���


�� &�����1%7)3� )������
�� &����$�2�H� )�� ��S98g�
���

�� &��($� � )����������
0� I)#%$�-))��9*����



���������	
��
�
���� ���

0� I)#%$�-))��I�$2�!����
 �L�1" �5�0� I)#%$�-))��9*�
($� � )��������������

$��1)L)��2�7'%�N��	
C
Z��)
>89������

n�1�#)$�3� )���������������
�$)2�$��!$%0!%$&���/�
��$3�$&�)2� ����
���'� )������

n�2)1)!�$)��3�  �.��� �
:�No=���/�����

$�!$� �1.-).���L!&�����

n)�1�#�3����0 ��p3�5�!3�
DE�]8������
301�'0��@89*�����
301�'0��q� I)#%$�-).��9*�


����������

n)�1�#�3����0 ��p3�5�!3�
���)�)
�����
E9�NT����
Ng����
�D+����

n)�1�#�3����0 ��p3�5�!3���� &
301�'0�

@89*����������
@89*W+���������

r�L�1" �.����)�"���

G�H)���/������
V�$�'�L)��� �����
p�$3�$&�)2� ����

n)�1�#�3����0 ��p3�5�!3�
�L)�!0)�'1.��� &����


n)�1�#�3����0 ��p3�5�!3�
��$3�$���9*��301�'0)

k������ ��!"�����
m�'� )��7%$ �1������
n���1 )!�1" ��������������
U !�$I�5�&����/
q�$ �3&����&10)�� /��� ����

���
r��1Q'� )������
V�$��&10���/�����/

n)�1�#�3����0 ��p3�5�!3�
��$3�$��@89*�����

n) �2)L��0�.��9*�:��9*=���������
����@�<A
BC����������
������� ��!"���������������
���)�)�*+,���
�
�L)�!0���� &�����

n) �2)L��0����� �31� )������
���������
������� ��!"�����
301QL� )��'1.��� &����/
01)� !�@�<A
BC����������
0� I1)0!&�����
 �#$%�0����
/
 ��!$�50��'1.��JE����
�
��32��!)2��!"���>89������
L)�!�!���� &����������

n�2� 
3&�4)����1 �2�L).�:*K�=����
'�1�#)$�3� )�����
�� &��
������
0�$ �3�5����
�!1)L)��@�<A
BC�������!
 )�0�%$�3 �3&(��)�!�2�����

��$.'�0��%II)0��3�����
�$)2�$&��!$%0!%$&���/�
$��2�H� )���1%7��)
 �'�7 ��!"���/�

$�#)�!$�-).����������
�1%7����� �$%7� ).�����
��)��0��%II)0��3�����
�%�'�2� ����

n�2� �3�$( �#��%$�3 .�:D��=�
�/�����
#��#$�I)L��0)���%II)0�&����/�
�����������������������������
�������


 �3&���%II)0�&����������
n�2�  ���)2.
FP�9�����
3&��$��������������
)�$�$().���/
 ��!$�50������
�!0$&!���)�3 %!$�  �������
$�#)�!$�-).���������
�%II)0�����

n�2� &
3!�$�#��%$�3 .�:*��=���/




���������	
��
�
�������

n�2� &�3�$( �#��%$�3 .�:D��=�
��

n���1 )!�1" &5���$3�$��
������
/������
������� ��!"����3&4� )����
�L�!���//

��#$%��L &5�I�51��/�
�!1)L)���!��� �3 �#����$3�$��

�

%�8<��	<��W�$�3�5'�$����/�
I% 0-))��/������

�

s%$ �1
�$�)�3�')!�1" ��!)���//
��$3�$���9*����$�2�!$&�����
���&!)5��9*����
�����

�

t��)�)�@89*
31�'� )����/�
���!�. )����/�
�!�!)L��0)����/�
!)�&���//
%'�1� )����/�

t��)�)�$��%$��3�:++=�������������
��:�'$��=�����������������
�����:Pb^A��=�����
�F*�>�����
E9�NT�:���3'� )2�%�1�=�����
���

�9�NT�:��$��'$���-).
'�2� �=���
������

J89FK�:) I�$2�-).�%�1�=�
���

8*�9�����
[Ti�:�!0$&!&5�01QL=�����
[g�:��2� �01QL�5=�����
�KE�:) I�$2�-).��
2��!���1�7� ))=�����

N>�:��L!�3&5�.H)0=�����
NR�:��L!�3�.�#$%���=�����
N89FK�:) I�$2�-).
��L!�3�#��.H)0�=�����

N+�:��$�)2� �3� )�
��L!�3�#��.H)0�=�����

Ng�:��L!�3&5���2�  )0=�����
��������

9*�:��$3�$�)2� =��
��������������
9*������

9S������

9gD�: ��%H��!3�3� )�=����

�D+�:%0���!�1"=������������

�g�:%0���!�1"� ��g?���=�����
+��:�!3�!��!3�  ���1)-�=�����
+D�:�$�2�7%!�L �.
2�$4$%!)��-).=�����

*8R�:-)I$�3�.���'�)�"=����/
*K��: �L�1" �.����)�"��� &=�
�����
����/

*+,�:�1%7��=���/��������������/
DgD�����
@89*�������������/�����������
@89*W+��������������
�����
@[*�:)�3��! �.��1%7��=�����
g�
�:�'$���-).�g?�
=�����
31�'� )�����/����

3(�' &��%�1�3).�����
') �2)L��0����� �31� )������
 ���$&�����
 ��!$�50��%$�3 .�'��!%�������
�L)�!0������
��$�2�!$&�������� ��!)�����
�$��$�L�  &������
$�#� �$�-).�����
���'� )������
I�$2�!����
4!�2��3$�2� )�����

t��$��
�3!�$)!�! ��!"��!3�!������
��#�1�3�0�����
)2� )�9��>8K*���/�
)!�$�!)3 &5��
����������
�����
)!�$�!)3 &5���$�(�7'� )�����

0X4)$�3� )���!3�!�3�����
 �)1%L4����$)�1)7� )�����

 ��$�31� )�����/����

��$���!0������
��$�! &5����

��$��&10���/�
��)�0��!3�!��3�1�0�1" �2
0X4������



���������	
��
�
���� ���

$���$�'�1� )�� �#$%�0)���/�
$�0%$�)3 &5��
������
$�0%$�)3 &5���$�(�7'� )������
$�0%$�)3 &5��%�1�3).
$��$�4� ).�����

��%I) #��:��2�  &5����$��=�
���

!$���)$�30����
�
I�$2�!�����

t��$���01)� !���


$��$�4� )���
/

t�(�$� � )����/�
t�H)!���� �31� )5���9*�����
t� ���//
��9*�����
�<W^AA	?^	Y^����
') �2)L��0�.�����
'���3�L �.���$�'�L���
������
'���1 )!�1" �.�����'� )�����
�
��������

)�2� � )���3�5�!3�����
) !�#$�-).�3����������	���
	��
��/�����

) !�$3�1&��L)�!0)����

 ��!$�50��%$�3 .�'��!%�������
 ��0�1"0���� �3 &(�3�$�)5�3
���������	���
	������

��$�! �#���$��2�!$������'� )��
��


���1%7)3� )��'�  &(�����
�� �3 �.�����'� )������
�!1)L)���!�'�2� ���
�
�L)�!0����������

��$�2�!$&�$���!$������
��2�H� )�� ��'$%#�5���$3�$�
������������������

��$�'�L���
������
��1 �.���$�'�L���
�
�$��2�!$����

$���!��L�$����$� '2�%X$�����
�3�5�!3������
��$)5 &5� �2�$��
����/
��32��!)2��!"���>89���
�������
���

���'� )������
�$�0�'�5�!3).���/

�(�2��)2� �3� ).����/
%3�'�21� )���
�
%�$�31� )�� ��0�1"0)2)�����

�

U'� !)I)0�-).�����
U�$�$().�'�2� �3���

��$.'�0� ��!$�50)��
�

U��&!�L ��!"���/�
U�2� � )��8�W�'$�������$.'�0
'�5�!3)5���������
����/

U2.�0�2�"Q!�$��9��>8K*�����
���
���$�����/�
0�'&�$��%$��3�����
2�!�'&�$��$�4� ).�����
�� �31� )����/�
��3���7'� )����/�
$�#)�!$�-).���/
�����
I�$2�!�����

U2.�%�1�����
�9*�)1)�9��>8K*��3&��$�����
�9*�)1)�9��>8K*�
��$�'�1� )�����/

FP�9����
3&��$�)2� )����
 ��!$�50������
�$�3�$0��'��%�!)2��!)�����
$��$�4� )��L�$���@89*���/�
I�$2�!��������

U ���0-).����!�. ).�����
U �!$%2� !�1" &���$�'�!3�����
A�M��������/
A<C�OA�����
J
C����


�Y�
<Z�M�������
�
<\�C�^����
�����
<��A�^M���
�
<��_^\�������
�
<��C`�����
<��C�^����
�����
<C_

abY���������
Y^�`Y�<M���
�
Y�<M���
���
�
�	^��	��:�	^��	
b��=���
���
�
B�<�Y�ZM���
�




���������	
��
�
�������

U !�#$�-).
�9*�)�@89*�����
�9*�)�@89*���$��1�2&�����
�9*�)�@89*��!$���3� ).�����

�

q1���&���$�2�!$�3��JE������
�Y�
<Z�M����

3� '�$������
 ��!$�50������
��1"��3�!�1.����
�����
�$)�$)!�!�����

q1)� !
�3!�2�!)L��0�.� ��!$�50������
301QL� )���9*����

') �2)L��0�.��9*�����
���$����9*�����
 ��!$�50���JE����������

 ��!$�50���9*�����
 ��!$�50��@89*�����
�� �31� )��)2� )�9��>8K*���/�
��3���7'� )��)2� )�9��>8K*�
�/�

��$�2�!$&�>KKD������
��$�2�!$&��JE������
��$�2�!$&��9*�3�$���!$������
$�#)�!$�-).�)2� )�9��>8K*���/

$���$3)$�3� )��3��JE������
�3�5�!3��DE�]8������
!)�&�%�1�3�9��>8K*�����

q�'&�$��%$��3�9��>8K*����
�����
q� 3�$#� -).�����
q� ��1"�%�$�31� ).��JE����
�
0�2� '&���$3�$����
�

q� ��1"�%�$�31� ).��9*������
������/

'�1�#)$�3� )������
0�2� '&��� &�����
0�2� '&���$3�$�����

���'� )�

'�1�#)$�3� ).�����
'�2� ������
�� &����������

q� ��1"�%�$�31� ).�@89*�����
q� !$�11�$�'�2� ��:�E=�����
��)�0�����

$��2�H� )����
������
q� I)#%$�-).��9*
'�  &�����
��1%L� )����$�2�!$�3���/�
��($� � )������

q�$ �3�5�0X4��/������
q�$ �3&����&10)���������
qX4
 �0��1� )����&1�L &(
�!3�!�3�����

 �1)L)���!3�!������
�!�%!�!3)���!3�!������
���'� )��3���6�2��3��#����5!��
�/�

�$�0�7)� )��!3�!������

	

j �#���!�3�.��'$���-).���//




r���$�$��%$��3���/

r�3)#�-).���
�
r��$�31� )�����/����

r��!$�)3��2�.�0� ��1"����

�� ��!0)���/

���'� )����/


�

G�1��!"��JE������
2 �#��'$�� �.���
�
$���$�'�1� )����
�
���'� )����
�
�%��$��1��!"���
�

G�1��!"�9��>8K*
0�'&�����

G�$�! &5
���$����������

��)�0����

@89*�����
��H)!�� �!� ��%I) #��� ��/�

���
G��3�H� )����//
G�!)2)��-).���!�5��/�
G� ��!0)���/�
G� �3 �5���$3�$��
�����
��#$%��L &5�I�51����



���������	
��
�
���� ���

 ��0�1"0������
%�8<��	<��W�$�3�5'�$����/�

G!0����!����1%7)3� ).�����
GL)�!0���� &���������

��$�2�!$&�)� ��!$�50�����


�

V�$�'�L���� &����������
������� ��!"����/
'���3�L �.�����
���$�!���$�'�L)����)��5�@89*�
@89*W+�����

) !�#$�-).��9*�)�@89*�����
 ��!$�50������

V�$��&10���/������
V�$!&
9��>8K*���/������

V$�'��L!� )����
���������
V$�0�)W��$3�$
@89*�����
@@@����/

V$��2�!$����&!)5�����
V$��!$� �!3��)2� ����
�9*�)����������	���
	���������
�
9��>8K*�����
������� ��!"�����

V$�!�0�1
>KKD������
�JE����������
FD�����
8EN����
���
�
8��:8<��	<��=����
8������/�
���������
N��E�����
�
9��>TS8�����
9��>D�����
*N>���/������
DE����

DE�]8�����
DFD������
S�����
���/�
g?
�������

V$�-����') �2)L��0�#�
�� �31� ).�����

V$�-�������$��������

V$.2�5�(��!) #�����
V��3'� )2����




u���)30����$���!0)���/������
u��'�1�  �#��2��#���(�2����/�
u��$�4� )���'$���3
���)�)��D+����

u��$�4� )��)2� ��������
9��>8K*�����
3��)2�'�5�!3)���9*�)�@89*�
���

2�!�'&����
�����
��$�! �.���!1.��/�
!$���)$�30����
�

u����� �3�!�1"���������
2�!�'&�$��$�4� ).����

�����  ��!)�@�<A
BC����������
��$.'�0�$���!&��
/��
������
$��%1"!�!����$�������
��)��0��%II)0��3��9*�����
I% 0-))����


u�#)�!$�!�$&����/
u���!$
)�2� � )��0�'����1��!)
9��>8K*�3�@�<A
BC��
�����

 ��!$�50���$�0�)W��$3�$�
@89*�����

 ��!$�50)�01)� !���9*����/
��$�2�!$&��9*�*�	��	�����
��$�2�!$&�9��>D����

��$�2�!$&�DE�]8������
��$�2�!$&�01)� !���9*�����
��$� ����� &� ��'$%#�5���$3�$�
���

��$.'�0�'�2�  &(��%II)0��3�
���

�0$&!)���1%7�&���$3�$�
@�<A
BC����/

��($� � )�� ��!$��0�3�I�51��
���

u���$3 ���0��)$�3� )������
u�0%$�).�����
�!01QL� )�����������
%�1�3).�3&��1 � ).�����

u��1)0�-).�@89*����





���������	
��
�
�������

�

p�5!�����
p�$3�$��JE�
�3!�$)��-).���
�
0� ��1"�%�$�31� ).���
�
 ��!$�50����
����


��$�2�!$&�����
%�!� �30������

p�$3�$��9*����
�3!�$)!�! &5���'L) �  &5�����
#1�3 &5��������
'���1 )!�1" &5������
�
�20��!"����/
���)�)�$��%$��3�:9*=����
)�$�$().����
)�2� � )��8�W�'$������������

)���1"��3� )��8<��	<��W
�$�3�5'�$������

)!�$�!)3 &5�$�7)2��
�
0�1)L��!3��'�2� �3�)��� �����
0� !$�1"��$�)�3�')!�1" ��!)�
�/����//

0�$ �3�5�������/�����
2 �#���!�3�5���/�
2�')I)0�-).����/
 ��!$�50������
 ��!$�50���� �3&2
) !�$I�5��2�����

 ��0�1"0���� �3 &(���$3�$�3�
���

��H� )������
�� �3 �5����������
����/
�� �3 �5�#1�3 &5����
��$�2�!$&�7%$ �1������
��$� ����� � �� �3&5���$3�$�
��������

��'L) �  &5����������/
�����
��1%L� )���3�'� )5�����
��$.'�0��$��2�!$��01)� !�2�
�


�$�3)1��3&��$��0�1)L��!3����/�
$���!��L�$����$� '2�%X$������
���

$�#)�!$�-).� ��0� ��1)
%�$�31� ).��9*�����

$�0%$�)3 &5�$�7)2��
�
�2�H� )�� ��!$�50)�����
���'� )�� �3�#����$3�$�������
��������

�!�!)�!)0����//
!�0%H)5�0� !$�1"�)
���1%7)3� )����/


!)���//�����
!�1"0��'1.�0X4)$�3� ).�����
/����/������

!���1�#).���
�
!$���3� ).����������
%��1���$��&10)���/��/������
%�0�$� )��$���!&�����
%�!� �30������
L��! &5���/

p�$3�$�@89*���/�
$���)30����$���!0)���/������
$�#)�!$�-).�)2� )�9��>8K*���/

%�!� �30������
I% 0-))���/�

p�$3�$�%�$�31� ).��)�!�2�2)
:*N*=��������
�

p�!�3�5�2� )!�$���/����
�
p)�!�2��'�2�   &(�)2� �:�9*=�
�/

p)�!�2��'�2�  &(�)2� �:�9*=
���������	���
	����
�
8������/�
+FE��������/���������
�����
@89*���/����/�
������� ��!"����

�$� '2�%X$&�����
3��)2�'�5�!3)����@89*������
���

301QL� )�����

'�1�#)$�3� )����1 �2�L)5����
'�$�3��'�2�  &(�)2� �������

'��!%� ��!"���/�
)�$�$().���

)��&!�L ��!"���/�
)���1"��3� )��8<��	<��W
�$�3�5'�$������

0� ��1"�%�$�31� ).�����
0$)!�$))�$��$���!0)���/�
2�')I)0�-).���$3�$�����/



���������	
��
�
���� ���

 �'�7 ��!"���/�
 ��!$�50��'1.�)���1"��3� ).
@89*�����

 ��!$�50��01)� !������
 ��!$�50)�3�$���!$�����/
��$�! &5��$��2�!$����
���1%7)3� )����/�
�����  ��!)�N��	
C
Z���9*�
��������

�1� )$�3� )������
��1%L� )����$�2�!$�3
 ��!$�50)���/�

��$.'�0�%�!� �30)�����
�$)� �0�)'� !)L ��!)
0�2�"Q!�$������

$��2�H� )������
$����� �3�!�1"����
$���$�'�1� )��)2� ����
$�0�2� '�-))���
�1� )$�3� )Q���/�

��32��!)2��!"���>89������
��#1�4� )�����)2� �(����
��($� � )�� ��!$��0�����
�%�'�2� &����
�(�2��v$��'�1�  �#��2��#�w���/�
!���1�#).���
�
%3�1)L� )���20��!)�����

p)�!�2 &5�2� )!�$����/������
��������
0� !$�1"��$�)�3�')!�1" ��!)
��$3�$���9*���/�

�L�!L)0)���6�0!���9*����/�
��������

p1%7�������$�3�!�1�5�9��>8K*�
��������
3&��$&�����$�3�!�1.����

#1�3 &5�����$�3�!�1"�'�2� �
:�N>=����


1�0�1" &5�#1�3 &5
����$�3�!�1"�:�N>=����


p2�H� )�� ��!$�50)�����
p��&!).�����
p���H� )���� �31� ).�����
p�)��0�0� !$�1.�'��!%���:�E�=�
/������
 ��!$�50������

p�%I) #�����
p�&10�����

p!�!)�!)0����//
@89*����

��$�2�!$&�3�A<C�OA���/�

p%�'�2� ����
�!$%0!%$����/�

�

x3�'�21� )���
�����/����������
x��1����
\W!)������
`W!)������
OW!)������
YW!)������
���)�)�$��%$��3��������
)�$�$().���/
)�2� � )��8�W�'$�������/
$��$�4� )�����
$�#)�!$�-).����
��#1�4� )�����)2� �(��������
!)��9��>8K*�����

��$�'�1� )������
x��1���$��&10)��/�����/
x!)1)!&����
A�M��������/
A<C�OA�����
J
C����


�Y�
<Z�M�������
�
<\�C�^����
�����
<��A�^M���
�
<��_^\�������
�
<��C`�����
<��C�^����
�����
<C_

abY���������
Y^�`Y�<M���
�
Y�<M���
���
�
�	^��	��:�	^��	
b��=���
���
�
B�<�Y�ZM���
�

�

y�51
JK*D*�����
�NJK*D*���/���������������

9TD�KRK9?�9*���
�
�� &���������




���������	
��
�
�������

�� &�� ��!$�50��'1.
)���1"��3� ).�@89*�����

�� &����$�2�H� )�� ��'$%#�5
��$3�$����������

0�$ �3�#��0X4��8<��	98E�����
0X4������
��($� � )�� ��!$��0�)�
$���!$������

y)1"!$�-).���������/
y�$2�!
'��0$)�!�$�98E�����
��#$%��L &5�I�51��9*��/�
���)�)

@89*�����
@89*W+����

7%$ �1�����&!)5�����
$��%$��3����

���$����9*�����
)2.��9*����

)2.�@�<A
BC�:9��>8K*=�����
���

0�'&�$��%$��3�9��>8K*����
�
���

I�51��NJK*D*����


�

z)01��$)���$�'�L����L!&���

z)01)L��0������1%7)3� )������

�

{��! �.���!"���/
3)$!%�1" �.�:,�9=�����

�

|)$�0�3�H� )�����/����������
�$��'�1� )���#$� )L� )5�����

�

}0�!$���!"�����


